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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate
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Question ID : 9864494012
Status : Answered
Chosen Option : 3

From the options given, select the rotated version of the following image.
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A B C D
Ans X1C

X 2B

v3D

X4 A

42 gfeRrr frow.3ns. SFE &

The SI unit of resistance is:

Ans FolFg
Ko

Coulomb

Question ID : 9864493065
Status : Answered
Chosen Option : 3
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Q3 FFRIA® =0T T T # ¥ raer & foer & g @ar &7

Ans

Negative acceleration is in the opposite direction of:
v

velocity

distance

Question ID : 9864493580
Status : Answered
Chosen Option : 1

Q.4

Ans

1kWh =72

K 1.36%X107°]
X 236x10%]
X 336%X107¢]
v 4 3.6x10°]

Question ID : 9864493521
Status : Answered
Chosen Option : 3

Q.5

HFeen T & iz of 7 fAread 7§ FiF @ dfew a8
Which of the following is the last element in Newlands Law of Octaves classification?

Question ID : 9864493353
Status : Not Attempted and

Ans m Marked For Review
x 1. Chosen Option : --
Radium
X2 S
Iron
v s :
Thorium
X 4
Rhodium
Q.6 s HEfE HY & TR (FIE 2018 & HJEN) TeUET i g2

Ans

Who is the current (as of February 2018) President of the Indian Olympic Association?
X1 st T
Abhinav Bindra
TR
Narinder Dhruv Batra
3. WE TR
Sharad Pawar
, I T
Prannoy Roy

v

x

Question ID : 9864492330

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.7

frafof@a # @ #ia & ve SR semr @
Which of the following is not a Triangular number?

Question ID : 9864492623
Status : Marked For Review
Chosen Option :1




Ans X1_ 3
V215
<310
X a5

Q8 gy Y sehfeier st & e W #ig o 3w Seet &2
‘Which gas is released when water is added to bleaching powder?

Ans ARG
Ko

Oxygen

Farl=T

Chlorine

RESED

.Hydrogen
X s FTET IS HFATSS

Carbon dioxide

v 2

K3

Question ID : 9864493550
Status : Answered
Chosen Option :1

O R aTslaT D

Which of the following is true?
Al ; 29 43
ns « g =2 } 23
6 12
29 43
Ko —< =
6 12
29 53
3. —= —
6 12
29 43
xXa2_n
6 12

Question ID : 9864492482
Status : Answered
Chosen Option :1

Q.10 Fr=faf@a aer #, v Re (7) @ @ mr 9g sequieya & 1 Re
T fashe § ST 9g T H

ST, TU,UV,VW,?

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from given options.

ST, TU, UV, VW, ?

ans o/ WX
X2 WV
X5 WY
X« WZ

Question ID : 9864494171
Status : Answered
Chosen Option :1

QM o, 3 AT %W & @ v e F Al TGN T B FF F A9 e,
I F S 07 3R A9 37 e gaml Il H fraer sr ued gam?

Tapas. Avi and Rishi shared a cake. Tapas had % of it, Rishi had § of it and Avi had the
rest. What was Avi’s share of the cake?

2
p -
6

Ans

1

Vo =

< 3.

il W oy

Question ID : 9864492641
Status : Answered
Chosen Option : 2




3
p
6

Q12 frzy 7 W o TET 1 A T SR T g
‘Which of the following numbers will have an irrational square root?
ans X'1.1024
v 22048
X 5 2401
x4 4096

Question ID :

Status
Chosen Option

9864492843

:Marked For Review
12

Q.13 37 Tome A ST & e e e
Asexual reproduction differs from sexual reproduction in that in asexual reproduction,

Ans " GIH o ! HT Hord BT ¢ |

the nuclei of gametes fuse
Ftelel H JIHAF ST g & |

the gametes are produced in reproduction

v &)
AT ST Ak ATT-Rar F FAT AT 2

the new organisms are genetically identical to the parent
x4 For fafererarsit #r gaTar g

the offspring shows variations

K2

Question ID
Status

Chosen Option :

19864493138
:Not Attempted and

Marked For Review

Q14 u 1w Al & FHg & fov Fa¥ 39gd A6 I

Q@b

Select the most appropriate term for the following set of items.

QP

F R

Books
R

X2 el
Marriage

3

. Celebration

e}
K 4
Meeting

An

Question ID :
Status :
Chosen Option :

9864494232
Answered
3

Q.15 9 5% aTf¥e FURTT =TT 9T HIS A6 a¥ 3 T 942 @7 T &1 3 er & forar
a7 Fger o= ar?

At 9.5% simple interest per annum a sum of money became ¥ 942 in 6 years. The sum
initially invested was:

Ans X 1. 675

Question ID : 9864493008
Status : Answered

Chosen Option :2




~< 23626
v 3 ¥ 600
X 4% 650

Q1 =1 STST F WadH FITET &
The reflector of a search light is a:
Ans
1 JIATRT 0T
cylindrical mirror
X2 SeaTel ZY0T
convex mirror
W 3 E ;
concave mirror
, T quT

plane mirror

x

Question ID : 9864493583
Status : Answered
Chosen Option : 2

Q17 Yaferr F Az gew Red T g &, = H 9 AT
Nodes of Ranvier are microscopic gaps found within:
Ans FlegleoTied
Ko =
chondroblasts
x 2 TITey ifarepratt
gland cells
e steaTe
X3 seive
osteoblasts

g ;

myelinated axons

Question ID : 9864493135

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.18 3AT 3T afa=rer =¥ FAT: ¥ 10,000 AN ¥ 15,000 & =der & T WHHT 4«
&1, oiferet T HAEAT & FNT, AEART o 8 FEe G Y= f+awr av| o
o= Tee aNE FE & AT gl # e sead # aier st wifge?

Umar and Avinash started a partnership with investments of ¥ 10,000 and ¥ 15,000,
respectively but due to a financial emergency the latter had to withdraw his investment
after 8 months. In what ratio should the profit of the first twelve months be shared among

the duo?
Ans 1.2 : 3
w211
K33:2
K412

Question ID : 9864492905
Status : Answered
Chosen Option : 2

Q.19 Tr=fafle # & fre H#f@fR gamn s=2 wlafk ar aget &1 Treme
grer &2

By which of the following processes are metals of high reactivity extracted from purified
molten ore?

” 39Fd Tl AN HOEa

1.
Reduction by an appropriate reducing agent
AfEear
Roasting

Ans

K2

Question ID : 9864493432
Status : Answered
Chosen Option : 3




CEEHIIRE

Electrolysis

X 4 St

Calcination

" £

Q.20 37 @weT & Taa #L off dE BT ¥ 3407 g d9ted § 59 o gau B _ .
ggor o & gefaa & Question ID : 9864494154
Status : Answered

B W
(:‘2%3}, ‘? g:? Chosen Option : 4

Select the option that is related to the third figure in the same way as the second figure is
related to the first figure

Ans ‘ﬂ*q
o

Q.21 gr 3t & 97 TEA AT BIAT S 30F il F UGS B AT AT
Find a two digit number which is exactly three times the product of its digits?

Question ID : 9864492444

Status : Answered
Ans 112 Chosen Option : 3

X 2 48
v 24
< 436

Q.22 wr=fr ESREaGH T ‘FeTRIaT == e
. %_?2018 ® aﬁr = il = Question ID : 9864492149

. . Status : Answered
As of February 2018, who owns the Kolkata-based IPL team ‘Kolkata Knight Riders’?

Chosen Option : 4

Ans

gad T
X2
Subrata Roy

, HAT @
Aamir Khan

3.
Sourav Ganguly
. AMETE Wl

o 4
Shah Rukh Khan

x

x

Q.23
Question ID : 9864493755

Status : Answered
Chosen Option : 4




fu T g2 eamde 9¢ AR Fand fF SO sl & ¥ foe Reefataa
Feell F § P =

FT X - 5 TH TEAT g7 X U adids S&m &

FUA:
1. X -15 &F quiie &
2. X -10 us faws quiies §

Consider the given question and decide which of the following statements 1s/are sufficient
to answer the question.

Is X - 5 even? X is a real number.

Statements:

1. X — 15 belongs to integer
2. X-101s an odd integer

Ans x1_
Fad FAT 1 TT § A9 hdel HAF 2 FIATT &

Statement 1 alone is sufficient while statement 2 alone is insufficient
X 2 gt el 1 3T Foua 2 9T S8 §

Neither statement 1 nor 2 1s sufficient

3
Fael dUd 2 qAC ¢ SA9fd hdd U 1 FyEed §

Statement 2 alone is sufficient while statement 1 alone is insufficient
X 4 Fod 1 3R Fud 2 g1 gareT §

Both statements 1 and 2 are sufficient

Q.24 form Wil Fe & Aran ¥ aid Ay Tferaw & a7 T 7 Renea
B o 7
By which legislation were India and Pakistan divided into two independent nations?

Ans AT e s 1947 Chosen Option :2

Question ID : 9864492091
Status : Answered

r 0
Pakistan Partition Act 1947

, AT s wfef@as 1947
Indian Partition Act 1947

s e TEaaar sfRfEas 1947
Pakistan Independence Act 1947

" AR TEaIar FRfaTE 1947
Indian Independence Act 1947

x

Q.25 &3 arw Fuet @ @ Aifere 3y ol fifcie & sl ar @) s o & e (B SV R
&1 I AT I Ifeheh T ¥ 3T HLT § (F ¢) uestion 12

Status : Answered
Y- Chosen Option : 1

HETINT T FAGEAT FHcaTde d¢ @ ¢ ooy g aidgeh T $1 Al gor
It & Sffed TR & TR 3 Wl

oS
1. TSN 1 g [@hrE & Yerdiferar aelret anfge)
2. TER &I 34 SANGT F @R &1 AiRw SN oel & foe sie A
A IR
Consider the given statement true and decide which of the conclusions logically follow(s)
from the information given in the statement.

Statement:
The population in metro cities is increasing tremendously which leads to the shortage of
living space and a drop i living conditions of the people.

Conclusions:
1. Government should re-plan city development.
2. Government should demolish illegal buildings and build cottages for people.



Ans

1#Hﬁﬁh$&2aﬁﬁnwmﬁﬂ%|
Only conclusion 2 follows.

2%@ﬁﬁ%$ﬁ13ﬂﬁ@T$ﬁﬂ%l

Only conclusion 1 follows.

3_u—rra’H AR 7 &1 2 RO HLT B

x

v

x

Neither conclusion 1 nor 2 follows.
, T 1 5T 2 QT 1T A

Both conclusions 1 and 2 follow.

x

Q.26

fo=faf@a & & #ia 15376 &1 FHaT 2
‘Which of the numbers given below is the square root of 153767

Question ID : 9864492803
Status : Answered
Chosen Option : 1

Ans  of 1.124
X 2134
X 3122
X 4128
Q.27 TRl gior &Y o9 H R v omg & Hny dfde @ S ¥, o 309 gaen

Ans

=T gdvr sfs &1 Tus feT?

HEALTHY

Select the option that depicts the correct mirror image of the given word when the mirror
1s placed horizontally below the word.

HEALTHY
X*YHTLAEH
X2YHTLA3IH
X*YHTJA3IH
viHEVILHA

Question ID : 9864494163
Status : Answered
Chosen Option : 3

Q.28

Ans

T aw Fre W faaR FY 3 a7 F F A 90 s A & Sl
FA H Jedieied ol

FU:
JTETIRT T PR F AT o= dIETI

FegAT:
(1) PRI AT & AW FT AHARS T § |
(1) =PrmeTd THT FEE T B

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:
Teachers must attend workshop.

Assumptions:

(I)  Workshop updates teachers.
(I)  Workshops kill time.

1 Faer A () Hfea &
| Only assumption (II) 1s implicit.

Question ID : 9864494344
Status : Answered
Chosen Option : 4




ST (1) 3R (1) g & @fed @

Both assumptions (I) and (IT) are implicit.

a1 s (1) T (1) R ¥
Nerther assumption (I) nor (IT) 18 implicit.

| et s (1) @fed &

Only assumption (I) is implicit.

<2

x

v

Q29 77 s oftwy & F% 3Ry smEET H 3 gT A §, O FE F A=

‘When a number of resistors are connected in series in a circuit, the value of current:
Ans g\ﬁ_"-
F ! *A ¢
decreases
V2 UF &Y EaT &
remains the same
x 5, ol &
increases
X 4 3T g AT §
becomes half

Question ID : 9864493186
Status : Answered
Chosen Option : 2

Q.30 weh Secor 90T, Forer Biever sas £(F G ) &, H HaT (u = 4/3) F gaT ST
F1 53 3 U7 Y Blekel wiETS FAT 2RI

A convex mirror of focal length f (in air) is immersed in a liquid (u = 4/3). The focal
length of the mirror in liquid will be:

Ans 1. (7/3)f

vof
X3 (4/3)f
X4 (3/Df

Question ID : 9864493144

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.31 37 3eat-AFf (Answer Figure) FT =TI FT 3T &1 5 WA-HTHT (Problem
Figure) & e woar % fore soaea g

Question ID : 9864494058
Status : Answered
Chosen Option : 3

Answer Figures

EARSEIE

A B C D
Select the Answer Figure that fits in the blank space in the given Problem Figure.

Problem Figure

oo

el
o] 2

Answer Figures

w6 ]x]

A B C D

Ans x1_c
< 2D
v A




X+ B

432 (NH,),S0, % & 3] & fraer wTAm] gt 22
How many atoms are present in a (NH4)>SO4 molecule?
Ans X114
K212
V315
X413

Question ID
Status
Chosen Option

19864493588
: Answered
12

Q.33 fy sgae 3 Aftae & & 3aT 2 &, & Aftae Ak A & e i 7
Hifew| RrrHER

If the difference between the mode and median is 2, then the difference between the
median and mean is: (in the given order)

Ans o 11
K22
X34
X43

Question ID
Status

Chosen Option :

19864492477
:Not Attempted and

Marked For Review

Q.34 & 3w Foer W FER &1 3 aF #{ & & 7 qhuromst ¥ Ha-dnd
T F eaEited BEl

YA

FUIEHE THITTE GarT Y Rl TRT Fae0 AR, 379+ AT 1 A6 G,
FlEaE &l sue Hariet & sawer gidfn ag Fer awln

TAURO:

1. vl QO 39 391EAT B G A1 1@ 9igdl
2. TEw AR 7 3w Wl

Consider the given argument and decide which of the given assumptions 1s/are mmplicit in
the argument.

Argument:

The campaign of ‘Swachh Bharat®, keep your cities clean, started by the apartment
association didn’t bring much response from 1ts residents.

Assumptions:

1. Residents do not wish to keep their apartment clean.
2. The association had failed in the campaign

Ans v hael JaUROT 2 dfERd gl
1.
Only assumption 2 1s implicit.

A1 A & 2 sfafafed Tl

Neither 1 nor 2 1s implicit.

| 131 2 gt et siaffed 8
Both 1 and 2 are implicit.

) hael AHIROT 1 3idfifed gl

Only assumption 1 1s implicit.

x

x

x

Question ID
Status
Chosen Option

19864494045
:Marked For Review
:3

Q35 FawT =t fFAE UEES & T H U AT S 87

Momentum is measured as the product of :
Ans

Question ID : 9864493179
Status : Answered

Chosen Option :1




| Geu 3R e
Mass and velocity

X o ST 3 @
Mass and force

x 5, G 3T Stsar
Mass and inertia

X 4 AT 3T Tator

Mass and acceleration

v

Q.36

T T R Rk T T A s s v = da
FeT T FueT 2T B

F9IT ABC & fhr Sdr @

EEH

1. F9 ABC & 75,000 F1g T 70/- Wiy 797 & fewma & &)
2. 3 % &9 H ABC ¥ U W IR 3G A& B

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How was the sale of the company ABC?

Statements:

1. The company ABC sold 75000 units of soaps each at T 70/-.
2. ABC has no other products in the production line.

1.

Sﬁ?gmaﬁ#ﬁvmlmm%, FafF FUT2 3T qATT T8
2
1 alone is sufficient while 2 alone is not sufficient to answer the question.

K2
3T S99 3 % AT Fua 2 HEe qEeT 7, Fafh FEA 1 3 JAeT 76
gl
2 alone is sufficient while 1 alone is not sufficient to answer the question.

X3
3R F9w & F O 7 & FuaT 1T &2 94T g

Neither 1 nor 2 is sufficient to answer the question.

v 2
Fua 1 32 2 & 3RT s9w & ¥ v g EL

Both 1 and 2 are sufficient to answer the question.

Question ID : 9864494327
Status : Answered
Chosen Option : 1

Q.37

& AT E TS s TaE & OwE Fi g, S aoAT #
Ferg safer et s & fow g a1w §0

‘Who is the author of the book *The Association of Small Bombs®, which is currently
shortlisted for the International Dublin Literary Award?

o | T
Namitha Ghokhale
X2 eufa T
Armundhathi Roy
Fld Hglled
’ Karan Mahajan

Question ID : 9864492322
Status : Not Answered
Chosen Option : --




Udel T
W 4
Chetan Bhagat

Q.38 7 1600 1 TFEr W 6 AT Fr 3E@W F v, 5% ¥ AR a7 W 35T
== fepaar gEm?

The mterest earned on T 1,600 at the rate of 5% simple interest per annum for 6 years
would be:

Ans X1 T 496
v 2.3 480
X 3% 450
x 4% 2,080

Question ID : 9864492867
Status : Answered
Chosen Option :2

Q.39 fiFa v # W 39geEa fawed oy |
2 ot formet ot & Rfie s Sutem A A E I ¥ wafw
g
Fill in the blank with the most appropriate option.
Plants that do not have a differentiated plant body belong to the group .

Ans x1_ﬂmﬂﬂm

Phanerogams

Pteridophyta
: E
Bryophyta
W 4 E

Thallophyta

X2

X3

Question ID : 9864493477

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q40 gfF 9 x6=457Tx4=33 3T 6x4=20% ar

5% 3 Sl Al fehaal ghm?
If9x6=45 7x4=33 and 6 % 4 = 20, then what is the value of 5 = 3?

Ans K124
v 216
<313
< 410

Question ID : 9864494348
Status : Answered
Chosen Option : 2

Q.41 13 Atex el v W U (WS o g &, S HgER o R B ST o
12 FAeT W ¥ A 3HF 9IE F 3 Fg W @A g W F T5F F g@l
3T & oFE AT A Ag IR a5 AleT TS o Ugel 8| HEh
dt=E A Fiew?

A ladder 13 m long reaches a window which is 12 m above the ground on side of a street.
Keeping its foot at the same point, the ladder is turned to the other side of the street to
reach a window 5m high, then the width of the street is:

Ans ?("1. 14;13'?1
14m
16 HreT
16 m
15 Hrex
15m
17 Hrex
17m

X2

X 3.

o 4

Question ID : 9864492458
Status : Answered
Chosen Option : 4




Q.42 Tefof@a & ¥ W 3098 & 759 & 3 g & INumEEwT, 75 30mEr &
Ao & gy gl Bmer aiome gaehfa gem

An increase in price of which of these products will have a ripple effect in increasing the
prices of many products, thereby resulting in inflation?

Ans =)

x 1 garsar
Medicines
p== iAo
Smartphones

v g

Petroleum

X 4 HTSTHAETS

Automobiles

X2

Question ID : 9864492338
Status : Answered
Chosen Option : 3

Q.43 v {EmEr 90 fraleiey wid o ff = & U 100 AT F9 F H U
& T 10 &he 1 TAT AT §1 oA T oEE Hiel 7 AT

A train takes 10 seconds to cross a bridge of length 100 m travelling at 90 kmph. Find the
length of the train in metres.

ans X 1140
V2150
X 2130
X120

Question ID : 9864492590
Status : Answered
Chosen Option : 2

Q.44 40 A 9 F v arg aifos fer F sodde wfa des & e 7 W
@ &1 sEh i 10 Fex oY S O o ¥ e e e T s
raer grem?

A 4.0 kg object is moving horizontally with a speed of 5.0 m/s. To increase its speed to 10
m/s, the amount of net work required to be done on this object is:

Ans 75 AT
r 0 ~
757

150 =T
2 ™
1507

50 el
Y

507
100 S

K3

X4
100 7T

Question ID : 9864493241

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.45 @ ¥ 91 W e, fave Afgwey ¥ ST F30 @ i Wl gger Aifde
g, e &1 31 F 2 ¥ vw av w5 ofn fave & adAe s w e

Seven years from now Virat will be twice as old as Mohinder. Five years ago Mohinder’s
age was one year less thang of Virat’s age. What is Virat’s present age?

Ans
x 1 51 I9

51 years

v 5 EL)
55 years

x » 53 g
53 years

x5 57 EL)
57 years

Question ID : 9864492932
Status : Answered
Chosen Option : 1




Q.46 wralr 2018 F F9ereY AFNT F FFAN, TUAHAA H M Fomger afiwg
(FromgTd) F e FHa 27

Who is the Chairman of the Economic Advisory Council to the Prime Minister (PMEAC)
as of February 20187

Ans 1 HAH B
.Amartya Sen

TSTAT gIger
2.
Najma Heptulla
IECCIR-CRiE]
3
Bibek Debroy

X 4 HAT &=
Amit Mitra

x

Question ID : 9864492385
Status : Not Answered
Chosen Option : --

Q47 QA lBa # T #ia O7 30 oy Jifeal & sufyg far gy
‘Which of the following acids is present in Red Ants?

Ans " FITHeR HFeT

Question ID : 9864493129
Status : Answered
Chosen Option : 1

Formic acid

X2 Ao 37T
Malic acid

X3 - =1
Tannic acid

x4 HTFtToreh 3+l
Oxalic acid

Q48 A .

E

FRIFT ged H, 99 AB & FIRNGT DE ¥ D fig X Fewe & agmr S
%1 afe¢ AB = 12 cm 3T DE = 8 cm @, df BD & vi@s T Hil

A B
D

E

In the circle above. chord AB is extended to meet the tangent DE at D. If AB = 12 cm and
DE = 8 cm. find the length of BD.

Ans x 1 6 Tt
6 cm
, 46 AT
46 cm
(3.4 HETHTET
4 cm
x 4 D HETHAT

5 cm

x

Question ID : 9864492996
Status : Answered
Chosen Option : 4

Q49 37 org & 7F FAW T AT § qAF T FET A FHAT ¢
Name the metal that can be easily cut with a knife:

Ans

Question ID : 9864493191
Status : Answered
Chosen Option :1




Ka 2

Aluminium

Q.50 T TEH T AR FI GER, 20 AHF UF ASHl F Fgl, "SHHT AT A

ATATSAT BT Shellc J¢T §, AT IaH Sdel Th 9¢T ¢ AN IS I o 51" 2w
aed $r o ¥ FY FEET 82

Looking at the portrait of a girl. Sheesha a girl, said, “Her mother is my grandfather’s
only daughter who has only one daughter and no sons™. How 1s Sheesha related to the girl
in the portrait?

Question ID : 9864494166
Status : Answered
Chosen Option : 1

Ans v TR Fr wshr gg R g
1.
Sheesha 1s the girl in the portrait
X 2 HIGH/ AT
Niece
a5l
X s
Sister
x4 arEr AT /FHT G AR /A (Aunt)
Aunt
Q.51 RBw arv yest 9 =R 1 3 vl & 6 et &1 e & & P st A @ .
Fher T Pt i ¥ Question ID : 9864494153
Status : Answered
T T/, 1 ATAT L1 TG, & ? Chosen Option : 1
a=g
1. To[ o 9RT & A.9RTH, ool U9 Gfator, W WAt & el féhem gl
2. TSl T IO Sl | el dgd W B
Consider the given question and decide which of the following statements is sufficient to
answer the question.
Is Raju fond of travelling?
Statements:
1. Raju has seen East, West, North and Southern parts of India.
2. Raju likes to be in the company of s friends.
Ans

)
95T &l Ico ol & ToT, A 1 sheel GG § TG G 2 dhdel AT gl
gl

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

<2
TReT & 3ca &l o ToIT, Gl are Ue Al TRied §, g At gr ae
3Tpel FATCT T £

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

X3
I 1 oF 2 T #H, T FJ87 § A 9T 1 3l & & o wfafEa
SR T IFGRTRAT ¢

Statements 1 and 2 together are not sufficient, and additional data is needed, to answer the
question.

X 4




TR F 3cc ol & folT, A 2 A T § TR a1 adel SAed dar
dl

Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

Q.52 AT 2018 H 3TERY FFF & TAN FomgEe §F & vAd A @it Fiw

Ans

&

‘Who is the MD and CEO of Allahabad Bank as of March 20187

x 1 for@r erAT
Shikha Sharma

Usha Ananthasubramanian
x4 ‘ :

Arundhathi Bhattacharya

Question ID : 9864492434
Status : Answered
Chosen Option : 3

Q.53 fer av yeT W AR & 3R av w F Aol &= § @ #aa w2

Ans

TR H Ieal & & foIw oo
X ¥R Y & FlF § | T+ &2

FYel:
1. X o 310 o7 3fifdem R &
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Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Between X and Y who is the better dancer?
Statements:

1. X had given more dance auditions.
2. Y had given more stage performances.
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Neither statement 1 nor 2 is sufficient
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Statement 2 alone is sufficient while statement 1 alone is insufficient
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Statement 1 alone is sufficient while statement 2 alone is insufficient
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Both statement 1 and 2 are sufficient
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Select the related word pair from the following options.

Goose - Geese -
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Pant : Pants
FHMAT : FHT
Shirts - Shart
AT : Al
Socks - Sock
SR : Siehe
Jacket - Jacket
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Find the missing term using the above sequence:
ABC: @*2:S#E: .

Ans 1. 2H
v 2 1H?
X 5 HHI
X 4 HG
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In the morning X and Y are walking towards each other in a park. When they meet each
other, Y’s shadow falls straight in front of X. In which direction was X facing?

Ans m
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West
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In a class, there were 9 boys and some girls. In a test the mean score obtained by the boys

was 12 while that obtained by the girls was 14. If the overall average was 13.1, what was
the total number of students in the class?
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How many triangles are present in the following figure?
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v212
<311
<410

Chosen Option :2

O =T W FT T UF ANEE § ?

Ans

Which of the following is a Saprotroph?
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Pigeon
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xe Algae
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A swimming pool is filled in 10 hours by three tankers A, B and C. The tanker C is Twice
as fast as B and B is twice as fast as A. How much time will tanker A alone take to fill the

swimming pool?
40 T

| 40 hours
80 T

| 80 hours
00 T

| 90 hours
70 T

| 70 hours
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The number of nevutrons in an atom is equal to the:
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Atomic number
X2 AT HE
Mass number
p S ¥l I;UI T T HE
Number of electrons
v T TEAT - GTATOAT S T

Mass number — atomic number
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The volume of a right circular cone, whose radius of the base is same as one-third of its

altitude, and the volume of a sphere are equal. The ratio of the radius of the cone to the
radius of the sphere is:
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Pir Panjal Railway Tunnel is located in .

Ans
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Jammu and Kashmir
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Himachal Pradesh
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Uttarakhand

faEsA
Sikkim
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The ratio of the numbers of blue to red balls in a bag is constant. When there were 44 red
balls, the number of blue balls was 36. If the number of blue balls is 54, how many red
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balls will be in the bag?
Ans x 1. 62
< 2 68
V'3 66
X 4 64
Q.65
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Select the figure that does NOT belong in the following group.

@ D|A\|[0]
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‘Who is the author of the speculative fiction book ‘Half of What I Say’?
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Anil Menon
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E.R. Meera
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Namita Gokhale
orfer &%y
Shashi Tharoor
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In Mendeleev’s periodic table, the properties of the elements are considered a periodic
function of their:

Ans o TRA T
Atomic number
B ICRICIUERER]
Tonization enthalpy
x5, RE & HBR
Atomic size
v 2 RHY

Atomic mass

x

Question ID : 9864493174
Status : Answered
Chosen Option : 2

Q.68 Ry 71T Frqgat & g F wew F TR 3R e F TTT

meY oo

Select the most appropriate term for the given set of items.
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Technology
X 4 3

Culture

Q.69 37 & = ¥ 71, T F HY, T H AG F A F HS T FH v
31 G T T AT AT 61 a¥ §| T H aoee g Gt 37

Three years from now Dharitri’s age will be eight years less than twice Eunice’s age. The
sum of their present ages is 61 years. What is Dharitri’s present age?

Ans
X1 43 I
43 years

xgss-ﬂ‘r

36 years

41 99
3.

41 years

39 Iy

39 years
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Type 1 workers can do three times the work of Type 2 workers. Twelve Type 1 workers
can complete a task in 10 days. How many days would it have taken 4 Type 1 and 8 Type
2 workers to complete the same task?

Ans x 1.17
< 220
Vv 18
X 416
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Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:

Honesty 1s the best policy.

Assumptions:

(I) Honest people are policy makers.
(II) Each policy must contain honesty.

1 Fael A (1) Ffed g1
Only assumption (I) is implicit.
SeTAR (1) 3 (1) &= &1 fed &
Both assumptions (I) and (IT) are implicit.
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Only assumption (II) 1s implicit.
| s (1) St () e @)

Neither assumption (I) nor (II) 1s implicit.

X2

x

v

Q.72

Ans

10

BYCINE
4
S 9
[ 1—Boys (C) — Athletic
£\ —> Cricket [ — Disciplined

f&&r 7T 37 @ F HFER, F AT AN ASF A CAAEFH A AT AT §
3 e off Bord § @1 gefar ¥

io0

5 3 2
4
8 9
[ 1—Boys (7} —> Athletic
A —> Cricket ] — Disciplined

According to the given Venn diagram, which number represents ‘Boys who participate in
athletics and also play cricket’?

X111
<22
<31
Vi3
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Who is the newly appointed Governor of Tamil Nadu as of February 20187
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Subramanian Swamy
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Banwarilal Purohit
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K Rosaiah
, Hegare FEICED
Satyapal Malik
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The number of symbols that are preceded by a number in the given expression is .

R+IM2S#QR™O@TF3

Ans x1_4
21
<33
K42
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Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
1. Some fruits are vegetables.
2. Some vegetables are not edible.

Conclusions:
1. Some fruits are not edible.

2. Some vegetables are fruits.

Ans (1_%ﬂﬁrﬁﬁﬁzﬂﬁrﬁl

Conclusion 2 1s correct.

o, ot 1w
Conclusion 1 is correct.
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Neither conclusion 1 nor 2 18 correct.
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Both conclusions 1 and 2 are correct.
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